


(i)

(iii)

(v)

(v)

offer erig ——— eI AR
q@ |

Funds flow refers to changes is

capital.

SR (22 [ S ——— q Weo
ol #{1ef< |

Contribution is the difference

between sales and

T oWl A e [
g s R

A is a comprehensive
plan prepared for definite future
period.

5 @IS THR fRaetere 72a |
Standard costing helps in
measuring
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(b)

RGN E

1x5=5

Write ‘True’ or ‘False’ :

(i)

(ii)

(iii)

(iv)

(v)
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ABIEAS T (FN SR AR
ARG fbIs i e

Management Accounting deals
only with that information which
is useful to management.

BfeTe (TPE B 20 PRI e g
AR |

A decrease in current liabilities
increases working capital.

wIeq YROfF Seire = i

== x 100
%4 am
. Contribution <100
P/V Ratio = Fixed cost
@ ATE6 (207 9T W AT |

Sales Budget is an Expenditure
Budget. _

FRCAILRNR o7 SIepRE SifafEe = |
All price variance are
uncontrollable.

Contd.
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3.

53 (o ol ¢ . 4x5=20
Write short notes on :
(i) foEE e AfRkEER
Scope of Management Accounting
(i) wom & 2 fAgfes TrrIPTR
Objectives of Cash Flow Statement
(iii) FASES HASE TS
Break Even Volume
(iv) T aEn
Sales Budget
(v) ToAmEA FEE ORSs)
Material Mixture Variance .
(@) “oifoERl Boisl TR Roiel FERR SKIPTR

GGWE TAEIPE FE, I =il G5l TN
,“: SlERE TS T S (e Sr-<w=i1eie
i Mﬁ:ul@ﬂ@ﬂﬂuﬂﬁng_ 12

“Management Accounting is the
presentation of accounting information
in such a way as to assist management
in the creation of policy and day to day
operation of an undertaking”
— Elucidate the statement.
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o4l | Or

%@ﬁm@%%ﬁ%

o SEEH
Discuss about the different tools and
techniques of Management
Accounting.
6+6=12

(@) ol T 4 3
(i) A@mﬂmﬂwﬁﬂﬂ%ﬁ%@@u

e |

(ii) %%%%%@@ugﬁa_

Distinguish between :

(i) Fund Flow Statement and Cash

Flow gtatement.

(i) Balance Sheet and Fund Flow

mﬁmnoaob?

Contd.



&« /| Or

(b) 9SIER (T AFFY Tge s 31-3-
2014 IRy =% 31-3-2015 wif{e ware

faa o' ¢

The following are the summaries of the
Balance Sheets of Everest Co. Ltd. as
on 31.3.2014 and 31.3.2015 -

(n3y% / Liabilities 31.3.2014 31.3.2015
Ed 3
S| R 2,00,000 2,50,000
Share Capital
e e 50,000 60,000
Reserve Fund
S & (FFOWE 2519 30,500 30,600
Profit & Loss Account
(@ A 70,000 et
Bank Loan
A GHPTIZ 1,50,000 1,35,200
Creditors
4 e . 30,000 35,000
Provision for Taxation
I¥/Total  5,30,500 5,10,800
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3 *<9lf&3yz / Assets :

i = @9
Land & Building

T79((fS / Plant

#¥H4 / Stock
m«lvl¥ / Debtors
«5m4sl /Cash
(<% /Bank

Mw / Total
wfefre selfernz ¢

Additional information :

2,00,000 1,90,000
1,50,000 1,74,000
1,00,000 74,000
80,000 64,200
500 600

—_ 8,000
5,30,500  5,10,800

(@) 2014-15 beTe T@NIfST S8 14,000 531 4@l

[l

Depreciation on Plant was 2 14,000 in

2014-15.

(b) 2014-15 5@ 20,000 Bl wAreie= fral =7 |
Dividend was paid 2 20,000 in 2014-15.

(c) TS A IZACOIS 25,000 G| g 99

&z

Income Tax Provision for the year was

2 25,000.

3 TDC MACC 3 (DE)/D
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(d) oIS (Al W TEre R w4 =

5. (a)

A piece of land was sold during the year
at cost.

o Reer R e Tt we el [efe
ofgs 31 S 2014-15 574 A PRI A
siffadn [Jfe s 1| 6+6=12

Prepare a Statement showing Sources and
Application of Fund and a Schedule of
changes in working capital for the year
2014-15.

ey il SUpTd Al e Fa s 3x4=12

From the following data, calculate :

(i) Ao FeR e [

Sales at Break even point
(ii) FSA SRSWS TS
Profit Volume Ratio
iii) e wife
Margin of Safety

5l ()

s @@l (2fe (et 10 5 FE)  1,00,000
Present Sales (at 2 10 per unit)

23 979 / Fixed Expenscs 30,000
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sfFaGME a1 (2fS lite 6 5 AX)

Variable Expenses (at 2 6 per unit)
24/ Or

(b) oS TOR @fbd e fogE ¢ o
@AIT @ ST 4 W W WA
Toiernz & & 2 4+4+4=12

What do you mean by Break-Even
Chart ? How is it drawn and what are
its usefulness ?

6. (a) AET e IRER Y SEEER S 4|

ATB FaEeE O 7w AEed dl A THAFTTHR
S 41 | 5+7=12

State the main objectives of Budgetary
Control. Discuss the benefits derived
from an efficient system of budgetary
control.

941/ Or

(b) WREEE B iR A faan | wifrgCAIETS
fapiof STwreiTE TrEd 341 | AR #Ad AR A9
S & R Ed 4| 2+5+5=12
Define ‘Responsibility Accounting’.
Mention the objectives of Responsibility

Acounting. Point out the benefits that
could be derived out of it.
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am@_ﬁau@aaﬁﬁﬁamaﬁ”

An industria] enterprise manufactured
100 units of its product, Necessary data
are given below -

FPTHE S s — ofe CI5S 2 Regriam
Standard Quantity — 2 kg per unit

T T — oS Resae 5 [l
Standard Price — 2 S per kg.

UPO T ARG — s oS 3 fataman |
Actual Quantity — 3 kg. per unit

P TT — s Rietranre 4 B
Actual Price — 3 4 per kg.

4x3=12
From the above data, ascertain Material Cost

Variance, Material Price Variance and
Material Usage Variance.
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5241/ Or

‘CHEIG HHR : 4l S SPYRYPTIE
(b) ﬁa_w, & 2 TR AR ST
) . 3.
What is Standard Costing ? Explain its
advantages and disadvantages.
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